Starburst Grab Activity









NAME____________________________

During Homecoming Week, Mr. Ferris is planning to give away a handful of Starburst candies to one lucky student in each class. He would like to know how many candies he should buy, so he needs to find out how many candies the typical student can grab with one hand. Naturally, he decides to collect some data. So he decides to have several students grab a handful of Starbursts and record the number grabbed.

1. Come to the container and grab one handful of Starbursts. You must shake your handful twice to allow any loose candies to fall out. After two shakes, this is your official sample. Count how many you grabbed and tally on the board and in a computer/calculator.

2. Based on the class sample, how many Starbursts should I buy per class so that I will have enough for the winner to grab? Explain your choice.

3. There is some variation in the number of Starbursts grabbed.

a) Name some statistics that could be calculated to measure the variation in this data.

b) Which one is the best for this data? Explain.

4. One measure of the total amount of variation is called Sum of Squares Total (SST). This is calculated by measuring the distances from each data point to the mean, squaring these distances, and adding them all up:  
[image: image5..pict] Calculate the SST for this data.

SST = _______________
5. The amount of total variation in this data makes it difficult to predict the number of Starbursts for a particular student. So now we will consider how improve our ability to predict. Mr. Ferris decides to pick the students first, then go to Wal-Mart and buy Starbursts. What could he measure on each student that would help him more accurately estimate the total amount of Starbursts he will need? Pick three possible measurements, and explain each choice below.


#1:


#2:


#3:

6. Decide as a class on the one variable that we should use to help with our prediction. Then create an appropriate model that relates this new variable to the # of Starbursts grabbed.


After the model is created, calculate the amount of variation that “still remains.” In other words, the total amount of variation remaining between the actual # of Starbursts grabbed and the predicted # of Starbursts grabbed according to this new model. This statistic is called the Sum of the Squares of the Errors (Residuals), or SSE.

SSE = ______________

7. Go back and find the SST from #4. Notice that the SSE is smaller. In other words, by using a model on a second (explanatory) variable, we have been able to eliminate or account for some of the variation in the # of Starbursts grabbed. Calculate the percent of the SST that was “accounted for.”


The % of variation in the number of Starbursts that has been accounted for by the ______________ model on ___________________________________ = _______%

This number is called __________. (Yes, it really is __________________ ^ ____.)
Directions:

1. Have students guess how many Starbursts they can grab with one hand: _____

2. Then tell the story on the sheet @ Homecoming…

Sample Data:  
Mean = 26.5 candies, SST = 1306, SSE = 451.9, r-squared = 0.65

	Hand_cm
	# Starbst

	22.0
	34

	21.0
	19

	21.5
	25

	17.0
	23

	15.0
	18

	18.0
	27

	22.0
	27

	18.0
	24

	25.0
	39

	17.0
	19

	22.0
	30

	21.0
	26

	24.0
	46

	22.5
	25

	25.0
	42

	17.0
	15

	17.0
	21

	19.0
	17
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